&
L YDY32s 382 IV

oy
3
&
=
[
=
9 g
3@
fiagfieg z
fl322[z28
S|2R8|eRE ke
Flengle 0l 82
3QF|2Q3% 8=
287 =20
g
g |2 2k
i 22| 313
g |k | 229
8 |o¥ a=5
=3 |*3 gm
3
INERE L
gl g g =2za
@ [ 3l 863
388
885
“3
H
Zl Wl =9 F
=R 5
al 55| & H
gl <78 2
s 38 F
5@ |3 H
2% | = H
88 | 2 —
ox | X B [N
o
2 | B |2 S 2
38| o 9
3 '
o ow
58 | » 39.
52 | T -
£? | = g o
o | X |E3 o o
35 (=] Eg Qo =
EX E s 5
93 o3 S <
g |m (= N
Y bl < NN
g5 [ m | o @
glgls| &
g | £ =3
> | Z @
LPo B @ '
2 u i
@ |z s
[= a =
Q
g 8
3
z|lo Z -
g 2
- |23
318 3
N "[g¢
g
. &
n

&2
yrovezs 222 I

G1 25kW

Sl

1kW X s 5]
g 4
YDY 325 @ER ﬁ \2 YDY 325 2R ﬂ \2
1kW *— o G2 25kwW —|
—
gn c 4
r =22
S1DORMA  YDY3x25 S8 ﬂ 5‘3"_ T s sy DY I25 R ﬂ 5‘3)(_
0,25 kW > .
&= — E:
s200RvA  YDYS25 sga IV o4 25K YDY 3x25 323 ﬂ 93)(_
0,25 kW * o .
—
g AT
F
3 oo I
o 7
YDY 2x1,5 M o
> L3
n - 'I’
w
2 02 1,0kw
H2IF3 oswietl, YDY 3x1,5 323 Bx_ I
144 W g
&2
YDY 3x25 223
O o 15kwW ) i 5
pe
M N
o5 &
=< ) YDY 3x25 23
Magazynki *—
R oswietl. YDV 3x1.5 " n 15kw
100 W :
&2
~ YDY 325 2R
O Pom. Kuch. *—
c{DY 21,5 > 25KkW
=D
m vovaes 3E8 IV
| oéwietl. YDY 3x1,5 m L%ds\\;vvka *—|
60 W o "
YDY 3x2,5 %n f)‘i
AV, pulpit  }
0N 5w
YDY 2x1,5 >
— YDY 3x2,5 S v
D1 oswietl. YDY 3x1,5 > Podtoga *x—]
175 W 1,5 kW
g §w
= & YDY 3x25 223 ﬂ \2
F3 cz.obecn. YDY 4x1 82T f)}x_ = fgd:\)/\?a *—
+ zmierzch. - ”
4
m oo vovaes 32 I
odioga *—|
» 1,5 kW .
$
&2 &
YDY 325 a%1 232
DN 25kW O} i ST
& O
w
= <
D2 o$wietl. YDY 3x1,5 383 &
YDY 3x25 =23
ow ~ Sekretariat }—D\}x—
m 2,5 kW
~
@] vovaes B v
< s ]
pg ’
i YDY 3x1,5 &2
A oéwietl, | ) YDY 325 3283
now D3 + biuro *—
2,5 kW
3
&2 &
YDY 2x1,5 YDY 3x25 283 f)‘i 222
O Blatokap  _} & x—]
W 25kw
A’ oswietl. YDY 3x1,5 m &
40w ~ YDY 3x2,5 23
Lodéwka —
P oiskw
N
&
YDY 2x1,5 > YDY 3x2,5 23
Zmywarka *—
U o5kw
-
WIF1 oswietl.  YDY 3x1.5 gl - &
140 W ~ YDY 3x25 223
Mikrofal. *—
C 250w
S 'g)
F1 cz.obecn. E YDY 4x1 823 ﬁx_ T . e
+7mi I\ = =
zmierzch. = Piyta 4 paInZ: YDY 5x4  F>S 5{(7
9,0kW % &
3
&
YOY 2615 SRS
- I =
g &
B o$wietl. YDY 3x1,5 323 ﬁx_ Ra oswietl. YDY 3x1,5 383
25W
g
r
vovaxs SRR —
BLI=Z
H2/F2 owietl. YDY 3x1.5 | Rb oswietl.
72w
YDY 2x1,5 YDY 2x1,5
H1 oswietl. YDY 3x1,5 P oswietl. YDY 3x1,5
287 W
T
¥
YDY 2x1,5 (@) YDy 2x15 o8
N — ’LI=
H2 oswietl. YDY 3x1,5 o S oswietl. YDY 3x1,5 a
72w
wn- g
= &= = 2
F2 cz.obecn. 82a — 3%
+ zmierzch. m YOY 2615 oFS
—
- M oswietl. YDY 3x1,5
m -
OYSDY 21,5 > &g
Eu — é
Koswetl  YOY3x15 a2 I8 m yorzas 8
60 W
\'_..
hd N oswietl. YDY 3x1,5
z
L oswietl. YDY 3x1,5
108 W
T oswietl.
YDY 2x1,5
J oswietl. YDY 3x1,5 | vovaxis o8
60 W e 3 5
1R
%3 U oswietl. YDV 3x1,5 "]
’ g
YDY 2x1,5 é
Z oswietl. YDY 3x15 - | YDY 2x15 __.3_’.'3 ]
340 W BL1=
; Aa oswietl. YDY 3x1,5
g
Test (1R YDY 2x1,5 @a 3
S R : =
Oswietl. ewak. YDY 3x1,5 ~» 323 ﬁx_ YDY 2x15 2=8
140 W S
Ab ogwiet.  YDY3x15 "~
YDY 2x1,5
gu
2
AG agr. chlod. YKY 5x10 23 wjv)?x; Ba oswietl. YDY 3x1,5
25 KW/ 400 V
)
g, =2
2
ssw YDY 5x2,5 =25 oj S‘ix_ o
1,0 kW/ 400 V
2\ Bb oswietl.
§ —
m
3 éa —
o 3 —
& Eo., m
YDY 5x2,5 K =20 wj 9)(_ = D oéwietl.
0,37 kW/ 400 V -
m
—
3 EEg ~ YDY 2x1,5
z — 2rls
®
: =~
S
~ e -
w2 YDY 525 B2 oJ8 | = coswin  YDY35
0,09 kW/ 400 V
H
2
» &s yovzas
°
® 3
< o
w3 YDY 5x2,5 Tq g:% “’i 3 E oswietl. YDY 3x1,5
]
0,09 kW/ 400 V
&
YDY 2x1,5
3 éa LTS VA o) S — M N
° BB
] &2
(=} 25
~ © gon S1 oswietl. YDY 3x1,5 J/ 323
W4 YDY 5x2,5 TR o 0
]
0,09 kW/ 400 V >
H -
2 >
Y
3 Bs AV ——
N
@ ~ ‘
A
el ggzz O sooswen.  YDY3x15 L
WN | bieg YDY 3x2,5 oy | =
0,9 KW/ 400 V _
m §
8
2 B,
) YDY 2x1,5 =
) @ TAV  — i N
- 82& pLI=
» -
°
2 g = s3otwen.  YDY3x15 J/f
WN libieg ~ YDY3x25 Myﬁ —
1,7 kW/ 400 V m -
¢ - %
— YDY2ai5 <R
@8 m Ay 22y
% i%
" B = S4oswietl,  YDY3x15
w gz — - ]
GN Istopien YDY 3x4 > wjyx; m
15 KW/ 400 V 8
= E
5 o =
~ YDY 21,5 *
2 E 1Ay 2t
% S%
" = S5 oswietl. YDY 3x1,5
o B8z _
GN Il stopien YDY 3x4 = wjv)?yﬁ
15 KW/ 400 V
g &=
Mag. zapl. SK  YDY 3x1,5 323
o 0,5 kW osw.
=]
ELNE -
o D2+Asyst osw. YDY 3x1.5 23
2 §3 1,1 kW
GN Il stopiern YDY 3x4 wl > | )
12 KW/ 400 V =
D3+Biuro osw. YDY 3x1.5
1,1 kW
&
Sekret. osw.  YDY 3x15 83
1,5 kW
YKY 4 x 150 mm? + YKY 1x 50 mm? TAV 25kw YDY5x25 $33
o
3
—
—. | | | | | | | | | | | | | | | | | |
0] T T T T T T T T T - T T T T T T T T T
= e R S I R
— 2| 1]
s N N
Q o o
>3
) < =
Q)
o
len
& |+t ++ 4+ + 4+ + ++ 4+ tH + A+ + A+ A+ o+ B
Q)
—
[
=
Q
8
L —
C | ! | ! | ! | ! | | ! | ! | ! | ! |
=3 T T T T T T T T T T T T T T T T T T
@ —
[y
N
N 1 800 1 800 1
3 ! '
o
Q.
c
——
~<
=
N’

Tdl ediqel




